6. An instrument for measuring the speed of

7. After Gupta dynasty, in the middle of

10)
d Gita was said to have been

" compiled by
(A) Shankaracharya (B) Madvacharya

018 (1) (M
Bhagava

(C) Veda Vyasa (D) Vallabhacharya

What is the nature of the image formed due
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted
(B) Virtual and erect
(C) Real and erect
(D) Virtual and inverted

During heavy exercise, we get cramps in
the legs due to the accumulation of

(A) Carbon dioxide (B) Lactic acid

(C) Alcohol (D) Water

Sodium hydrogencarbonate on heating
produces

(A) Sodium hydroxide

(B) Sodium oxide

(C) Sodium carbonate

(D) Sodium

The land cultivated by Kurus was called as
(A) Bahudhanyaka (B) Adiroopa
(C) Prajotpathi (D) Angeerasa

wind is

(A) Odometer
(B) Speedometer
(C) Anemometer
(D) Barometer

Sixth Century AD, established

supremacy over Punjab.
(A) Pallavas

" (B) Gujarat

(C) Kadambas

(D) Huns'

S I%] Sl Il g, & IS W@ JaT g @
aa?%ﬂ?adm%waﬁméuﬁﬁaﬁm
TR T

(&) aTEafae 3R e

(B) 3ATeTTEt ST T

(C) aTEdtaeh TR Hien

(D) 3T} SR I

W s & <, 9 A 7

¥ T=9 % FNOT e 8l

(A) FEH SRS (B) Wi
(C) Teehied (D) v

Afem T SEE e R

Iea Ll gl

wém%m,imﬁwaﬂ%m
# ere q e et R

(A) Yeod

B T
(C) &d

(D) &
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11.

12,

13.

14.

A

the number which s

. Ot |
mong the options, tlike the Other

(B) 1100
D) 1119

g, Haryanais the first sta40 to launch
(A) Satellite
(B) Mahila Poljce Volunteer
(C) Kissan Budget
(D) Aryabhat

10. Considerthe following with reference to the

term “Sovereign State”.

*) A_Coumry can be a sovereign with or
without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
V5x? —8x + 35 = 0 are

(A) \@% B) 53
(C) V5, 35 (D) 4,2

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Paina

Which of the following Article provides that,
‘The State shall not discriminate against
any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?

(A) 13 (B) 14
(C) 15 (D) 16

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People

10.

11.

12.

13.

14.

4/2018 (1) (M10)

&l 21
(A) 1001 (8) 1100
(C) 1010 @) 1110 -
T 2l
A) 3I9UB
((B)) et g T
(¢) fepam &sie
(D) g _
iy T TR H geef § Frfafed ™
CTd
T@éﬂwm%maﬁﬁm%mm
Fa foreT WY € Fehd! 3
(B) Waﬁﬁmﬂmmﬁmw
¥ @y awEitan feRan S EeRdl
(C) i @sl?
(D) Ig e
JBx% — 8x + 345 = 0 THEF &
3
(A) ‘/5’7‘5 (B) 5,3
(C) 5,35 (D) 4,2
TR FEi, T IR TeeT T TST
T I o7 |
(A) T (B) &
(¢) Tfrar @i (D) T

FrafoRaa & & SH-T1 17=88 Wae =Xl
? o5 =g v, 9w, fom, sifa, Scafa & s
& TR T fereht Amier oAt Siferd e a7

(A) 13 (B) 14
(C) 15 (D) 16
wmaa#rﬁawg@%mﬁwfm%aﬂt
T I St Arediereh wifer 34t fAfea &
(A) TETH (B) Tsgufd

(€) FEwAt (D) @
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g

e f

45, If ONE’ can be coded as ‘34’ then TWO' | 15. 3Rk ‘ONE' = T 34 ¥ @ TWO' FE
" can be coded as g
(C) 58 (D) 68 (C) 58 (D) 68
6. A current of 0.5 A is drawn by a filament | 1¢, faqﬂ . W%ﬁ e
k of an electric bulb for 20 minutes, find the E—: 0.5 A?;g? ﬁa@ﬁ;‘oqﬂqu % =l
amount of electric charge that flows through ' :
the circuit. g EIR foRIa 31 &Y o 91 cad
(A) 300 Coulomb (A) 300 e
(B) 600 Coulomb (B) 600 getvst
(D) 20 Coulomb
(D) 20%a= S <8
17.  Readthe following statements with reference | 17. fymiffaa oAl 1 BN
to features of Kashmir Himalayas. fardryarat & ged ufeT |

I. They are famous for Karewa formations. Y e R o afEE R

£ ) i A .

ii. Karewas are the thick deposits - @W%ﬁa%wﬂﬁ%ﬁ
of glacial clay and other materials L V4in e ST R |
embedded with moraines. N =

ii. They are useful for the cultivation of il AW EIWEF forg ST © |
Zaffran. W SR, e i I T T e

iv. Srinagar, the capital city of the state v, s _;F’E aaﬁt@m% I
of Jammu and Kashmir is located on R
the banks of Jhelum River. I EHE ;\Iﬁq .

Select the answer code : (&) i, ii i (B) i, iii iv
(A) i, ii and iii (B) ii, iii and iV L
(C) all the above (D) i afia%y Grily (C) ¥ mft (D) iii 3R iv et
18. Al triangles are similar. 18, fi_ = earsaEaE )
(A) Isosceles (A) THEETg
(B) Equilateral (B) &HeTg
(C) Obtuse anglea (C) Aftrprmn
(D) Right angled (D) "
19. In2016-17, Haryana GSDP is growing at 19. 2016-17H, BRETTH GSDP
R R GRS
A) 6.7 percent '
) (A) 6.7 wfama
(B) 7.6 percent ' (B) 7.6 Ufwra
(C) 8.7 percent (C) 8.7 3fawm
(D) 10 percent (D) 10 Wi
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i |
mmnmunnlmuumm e e e

2 SSY carin"g g hefollowmg

eed diesel
i :fztlso[:\ Turbine Fuel (ATF)
Petroleum crude
Motor spirit or petrol
v. Natural gas "

i r given below .

N 8:)0??3 ::ij ritigi;ht answ(eB)g bty
i~ () I, ii, iii and iv (D) All the above

21. The equations ax + 9y = {and9y-x-1=0
represent the same lineifa=

(A) 1 (B) -1
() 9 (D) None of these

22, Consider the following :
1. Sambhar lake is a salt lake.
2. Chilka lake is a fresh water lake.

3. Vembanad lake is a back water lake.

Which of the above is /are correct ?
(A) 1tand2 (B) 1and 3
(C) Alitheabove (D) 3only

23. lfmcot A =n, then the value of
msinA-ncos A o

ncos A + msinA
2 2 2 2
(A) T M B8) M =n
n—-m n2_m2
2
(C il ny
) M2 + né (D) m+m2

24, Haryana is situated between

(A) 27°37' to 30° 35' North latitude -
(B) 37°37' to 30° 35’ North latitude
(C) 47° 37" to 30° 35’ North latitude
(D) §7°37' to 30° 35' North latitude

|-

4/2018 (1) (M10)

20. STCE # At SvarehTd) ypespareh st s
Tl €| Frafefad frawm § - Eﬂ@amaﬁ
T T hifie)

i. 3= Tl daw
ii. IESI TG 3HH (ATF)
iii. = ST
iv. ﬁaf@tﬁzmﬁaa
v. Wiehtas g
= T e wh s
(A) i, ii 3 i (B) ii, iii 3T v
) iRy (D) SEa msft

21, GHWHUl ax + 9y =1 3R 9y —x— 1 = 0 TOH
W HEidgaRa=

(A) 1 (B) -1
) 9 (D) T A HE T

22, frafGfapm fmm =t .
. W davi e ®
0. Tareeht et e arh R =i Ry
3. de Fit v o =i R

IRAY -G TR ?

(A) 132 (B) 133
(©) 3¥a usfi (D) ¥« 3
23. TR mcot A< n, @ MSINA-ncosA
LIER Ncos A +msinA
O
- n=-m
© m-r . LR

24,

(A) 27°37' § 30° 35' I I
(B) 37°37 ¥ 30° 35' I AL
(C) 47° 37" | 30° 35’ I &

(D) 57° 37" & 30° 35' I AW

o
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25.

27.

28.

A man invite

(A) James Mill |
(B) warren Has’ung.s
(C) Sir Thomas Smith

(D) Annie Besant

boys and girls On the
’ i?\r.nfhe n)[meer of boys was
mber of girls. He gave
Rs. 20 to each girl.
y him was

birthday of his §
2 less than the nu
Rs. 10 to each boy and .
If the total amount distributed b

Rs. 280, the number of boys was

(A) 25 (B) 10
(C) 8 (D) 15

Two coins are tossed simultaneously. The
probability of getting exactly two head is

(A) 1 (B) %

© K o) Ja

Three cubes each of side 5 cm are irined
endto end. The surface area of the resulting
solid is

(A) 15cm?

(B) 175cm?

(C) 350 cm?

(D) none of theda

- Rabi crops are solin at the end of

(A) QCtOber
(C) December

(B) November

(D) January
The 2018 Nob
Medicing js con?erred to
(A) Michag| W. Youn

(B) Tasuky Honjo :
(C) Michag Rosbash
O) defirey ¢, g

| Prize in pp,

ysiology or

25.

26.

27.

28.

29,

30.

LTI iy
S IlllIIIIlll]MIlllﬂlll

fafem
i Wity
mﬂf un g, it R e ﬁw;:
(A) S firg
(B) a1 e
(C) W Uty fary
(D) Tt e
T A 31 gy 3

F{'\E_% F d slfqléqgm
%mﬁﬁ“ﬁ“mﬁgg@%
2 16 oo 2T B gy gy 4
qﬁmmaﬁ%@%mﬁﬁ 2011@:
o Awmy 20
(A) 25 -

(B) 10

(€) 8 o) 1
ah%E[EW :

(%) 1 (B) Y%

© )5 © %

5 Tt Yo A i
%ummmmﬁ%mﬁyw

(A) 15cm?
(B) 175 cm?
(C) 350 cm?

(D) ¥ &

Gft il o
STt R

(A) IR (B) T
(C) feme (D) SECKl

Tufhean a sftweht & & @1 2018 A
TR __ wmrfenmn

(A) WTIhRa B&e . I

(B) e st

(C) fimia Teamm

(D) < . gia

L GEE
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' 31. If p> = 6p + 7 is divided by p — 1, the 31. afe pz—6p+ 7% p -1 A fawnliva T s an
5 remainder will be ®, @ T Brm
ﬁ (A) Positive (A) ETeHh
2 (B) Zero (B) A
1 (C) Negative (C) =HUTHh
E (D) None of these (D) =8 & g 7
“ -
] 32. The most important distinguished feature | 32. T % ¥ e 6 gaiites = ai
ﬂ of the Federal form of government is AEeaqot farrean 3
E, (A) Having Supreme Court in each (A) Y& T I garea ey
- . State X .
) (B) Having two citizenship, one at the (B) & AmTiERam B, Th ¥g TR 31t
i Central Gowt. and another at the State Eflfl TS GG
Gowt. . X
(C) Distribution of executive powers (©) ?gﬂ;@jm Eiii[ ii
equally between Centre and States )
(D) State govemments vested withthe power (D) U7 WA v a1 s T Y
of seceding from the union or federal RRED RS2 T -.
If 'a’ means ‘+*, ‘b’ means ~,‘C’means ‘s’ and 33. Tfeey e ‘+, ‘D’ T 37 ‘C’ hT 379 .
'd’means ‘<’ then, 25 ¢ 5d 8 b10 a15 = MCAFTA 0@ 25 ¢ 5d8bl0ats=
(A) 55 (B) 40 (A) 55 (B) 40
(C) 44 (D) 45 () 44 (D) 45 o 4
S years ago, father's age was 5 times ae | |

: 34. 5 '
old as his son and after 3 years, he willt\e | a'sf t@ﬁm = NI =l RS Tm

: : : o, 39 gyerg g
3times asold as h AE . Y T H g 7y
Biires as his son. Find the piégint 3W@’ﬁlﬂ'ﬂ@lmmw%’?@
(A) 10 years (A) 10ad
(B) 13 years (B) 133d
(C) 12 years ' (C) 129¢
(D) None of these | (D) T YR
If2is a zero of poj ial p(x) =4x2 4 2y — 2
then value of F;Oi:nomla " 43(2+2X 3 ;ﬁagf mpéx) O 2 R
) 5/4 D) -4 ] (C)\ 5/4 (D) -4
The Haryana Municipality (Amendment) Bill | 36, ERETTITET (Goem) et
was passed during the year - T4 & R i e
(A) 2014 (B) 2015 - (A) 2014 . (B) 2015
€ 2016 (D) 2017 (C) 2016 (D) 2017
-7~ ‘J
] ] _ o= ufl
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JE—— | P mQﬂfﬂ"ﬂ“""""“""""“““‘"'
S- X :
37, Consider the following :?twmgg jears of 1. 39 50 g‘ﬁ #1 32 H o
1. He was iﬂe";fn:nd many years ! ' 5 ar' gﬁa" ! aﬁgﬁaﬁ@ I T 3k
T %n?noar:\ carrie | geTea %ﬁﬂ'{?mé _ﬁaﬂtm%
a .
Howasstuded " EngEl ies there sriferrl TR foRr W I A 3 1
& t re\/olutionary aCtlVIMadan Lal Iei ; 6 | Y
out (607" e HardeY®, 3. S U TS ST 7 aafiyerg
Dringte, Mada™ o ett(':c'm called st MR
' jsatl Lt
o set UP &7 2;%.?' gt wafila fR R
Aphina i w1 fergm
The personallty referred here A 1. € H‘lj{;(
() Rash Biner Bose (B
) V.D. Savarkar (C) et oisdd 19
(D) T vare fafam

I G AahlL R L |

ag. Findtheterm whichis different from the other
three among the four options given below. g o= 3 ;
(A) Ink (B) Paper ()¢ T (B) =
() Penc (D) Cook ON St (D) T
39, Bhuteshwar temple is situated in the | a4 @ya'(:rf%( .
district of f foet & fem H
() Bhiwani (@) Jind (A) firart (B) Sfie
(C) Jajjar (D) Panipat (C) TSR (D) T
40. Bugyals, a unique type of vegetafica I "
s peofvedeltiatound | 40. T, femTerd o gl S ATt T g
(A) rSelgl_!;mer grasslids ¥n the Himachal TR <h1 el 8 3
n
(B) Summer gressl ; o (A) oo :
; gimalaya§ slands in the Sikkim ( &% 7 1T U % BAgH
ummer grass| i B) fafery feurera o
3 *S‘fimalaya% asslands inthe Arunachal 3 T Ifieq 919 & AeH
ummer grass| . ) W .
mountains slands in the Eastern : e § 1fisq g & Aed
§ : D) o e
41. The solutions of g TOﬁ E'igmﬁmmw%ﬁrm
ax + by — ystem of equati
" y a'i'b:oandbx ons 41 ]
(:;: oL ; H‘:ﬁmvh’cnuby a+b=03R
X= - 2T = - -l
(B) x—a;b'“a-b a-b = 0% yoreft & g QAR
= -a+by=-
(C) x=1,y=_1y a-b (A) x=a4p :
- ’ =4a-
(D) X—o.y':o . (B) x=-a+b b
yY=—a-—
) _SC) :X =1 Yy og a-b
©) x=0,y~ 0
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A
42. Select the correct statement from the
following.

(A) Heterotrophs survival depends directly
or indirectly on autotrophs.

(B) Carbohydrates are stored in the form
of glycogen in plants.

(C) The process of acquiring oxygen from

outside and use it in breaking down

of food source for cellular needs is

photosynthesis.

The complex substances are broken

down into simpler ones for the growth

of the body using biocatalysts called

lipids.

(D)

Which of the following is incorrect ?

(A) 1935 Government of India A.ct
provided for establishing Provincial
Public Service Commission

1909 Government of India Act provided
for separate electorate to Muslims
1919 GovemmentofIndia Act introduced
for the first time bicameralism and
direct elections in the country '
1947 Independence of India Act provided
formeinducﬁonoflndiaintooommnwealm
group of nations (Commonwealth)

43.

®
©

(D)

44. InHaryana, the district which getsthc 'av. st

rainfall is

(A) Faridabag

(B) Moitak
(C) Sirsa

(D) disa,
45. Find the missin
for MQ, 2, AE,
(A) TX

©) Tz

The ancient e
(A) Rigveda
(B) Bhagavag Gita
(©) Yajurveds'
(D) Osho

gterm () from the options
HL, OS, Vz.

(B) Sx.
@) TY

9. Pic of Haryana is

4/2018 (1) (M10)
ArferRaa o we) e g .
e ey an s & e
Sfra I 3 fere feft s 8 ,
Friterese fefi & T & w9 W
R St 4 e AR
qEfed T FA HE hT WA SR
HYATT | :
ifert TaTeh TR <t i o fore wree waredt
A fotrs e Sracies 1 wer &
qle S 7
Fefef 3 w2 7
(A) 19351 ¥ FehT Tferfam ey e
[T ST AL & Telte
(B) 1909 1 %T.{TTW\’vTﬁTﬁWHﬁ\ETﬁ
< o7 Yoreh T o e e
(C) n;ﬂ1(‘8ﬂﬂﬂam3ﬁlﬁmﬁ%ﬁ
wmxartﬁmaqﬁaaﬁtm&wmaﬁ
SR |
\3) 1947 9YRA Y Tadae Afufam 3
ww%ﬁ%mﬁmﬁm

(B)

(C)
(D)

43.

44, mmﬁasﬁmﬁﬁmmauﬁmﬁeﬁ%
(A) wlieEme

(B) o=
(C) T (D) f&ar
45, xg, % AE, HL, 08, vz % N 92 (?) I
(A) TX (B) SX
©C) 1z~ (D) TY
46, E&qwnmmﬁﬂ's'réﬁrsa%
(A) e
(B) waq iy
C) ag¥e
(D) =N
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fuami

ya @i Ty
T <kt ¢

(B

i
©) D i
©) ¥R, 3. uny. @I

- g‘?%f%ﬁﬁﬁaaa—m@m’}vﬁm
(A) 1,1,2,2,3,3, .-

(B) 0.3,0.33,0.333, ...

111
(C) _2—) Zy 'g,-..

(D) J&Jﬁiﬁé&fﬁ;,
' -

—ana budget for 0017-18 was | 49

o ) 'inister (B) Chief Minister
Minister (D) Home Minister

Jatch the following with their pairs.
1. Blanket of air which

) surrounds the eart
» 2. Domain of water
e 3. Gravitational §

the earth

onment 4. Our susgeadin
5 N '@- where
war and air

6. Relation between the
. organisms and their
surroundings

aliSWer code :
fl-1 v -4 -2 ll-5 W-3 V-6
=2 |y _3 (B) I-5 11-6 Il -1 V-4
=2 |y_4 € I-1 -4 m-2 v-3
O 1-5 -1 -2 -4
Is to 51. o Iifeat o1 et 3

(A) Heh hT UdT T
(C) e 1 war e
(%)) mmwm

- -10-
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52 Find the missing number in the sequence
. 4! 91 16! 25’ 36' ?

(A) 47
() 72

(B) 49
(D) None of these

g3. Prithviraj Raso was written by
(A) Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda

What are the values of y if the distance
between the points (2, y) and (— 4, 3) is 10 ?

(A) 11and-5 (B) 2and3
(C) Oand1 (D) None of these

Kavi Maldev was a _ poet
of Haryana.

(A) Sanskrit (B) English
(C) Urdu (D) Hindi

The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

A qertain number is 4 times the sum of the

dlglt.S. If 18 is added to the number, the digits

get interchanged. Then the number is '
)

(A) 42 (B) 24
(C) 3sk_‘f O (») Nona§

)
G5

8. The non-metal which is i r#,, \ature is
- (A) lodine _(3) Sroaine

| 59. The radii of two circles é
- 6.cm respectively. The rad
which has circumference eque
Py ) NE H ®)

the circumference

(A) 19cm

() 1R o
(C) 16cm




~n

|
)

4/2018 (1) (M10) .
61. An image formed by

always ' o
(A) lllusionary imag

(B) Virtual image
(C) Real image
(D) Reflection image

70 was Monday, then 14" of that

plane mirror 1S

62. IfAugust2
month was on

(A) Monday
(C) Wednesday

(B) Tuesday
(D) Friday

. is
63. The state bird of Haryanal
; (A) Peacock (B) Parrot

(C) Pigeon (D) Black Francolin
he governor of Haryana is appointed by

Y(A) Prime Minister (B) President

(C) Chief Minister ., (D) People

e

65. Goddess Bhawani Amba temple is in
(A) Rohtak District (B) Manipur District
(C) Ambala District (D) Gurgaon District

66. Haryana is called as the |
(A) Land of temples '
(B) Land of flowers
(C) Breadbasket of India
(D) Pious state

67. Star monument is the'a (niadhi of
(A) Tarachandji Maharaj
(B) Narayana Swami
(C) Shivaji
(D) Govindh Singh

68. Which type of soijl havin
holding capacity ?
(A) Sandy soil
(B) Clay soil
(C) Loamy soj

(D) Mixture of sand and loam

g highest water

-12-

61.

62.

63.

64.

65.

66.

67.

68.

(B) Tsgufa

(&) FEmAeE]
(D) AN

(CINHTAA

gt STt 379 1 Tl
VIRGER I

(@) AT e
Hieiea
(A) w3 ogfy

(B) EI & oyfn

(€) WRE it g hi Srehty
(D) ufem U=

o e

(A) TR TERS
(B) ol et
(C) fawh

(D) mfiz fyg

ERRETE
mmglﬁmwﬁ%m

() efreft oy
(B) Torrt agy
(C) TRy

iy
(B) wforge e
(D) T S

EHESIGIRS

=1 Ty )
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(B) Lu fore

(c) while
ter

v ]
~__ itrainedalot, We¢€

holiday.
(A) Although

(B) ThU‘

() Even though |

In spite of :
‘ g A\ : J

form of the verbs L (D) by
1. What was wrong with you ? Why Q oose the correct meaning of the underlined idi
P ‘ from the given options.

to ﬁosﬁil
(A) hadyouto 77. He is now a_gentleman at large living as
() did you have to | : best as he can.

X (A) Dominating

C) must yoL ‘
o (B) Atliberty
(C) A person without any serious occupation

(D) should you |
‘ (D) Ordinary and undistinguished

toose the correc

L Sh% _ fromfluwhen she was |
inte S 78. A sensible man, as a rle, cares much,for
" Is suffering public opinion. T
(B) L-mb ST 1 (A) Whatever may be the oost
) Hag d suffere (B) Whatever may happen .
(G In reality A

fQ){ i
b ’ (D) Usually




4/2018 (1) (w1 0) (g DN
&=t wmo
79. Al Hifv 85 iaw%;maaﬁﬂm:ﬂ?;’:‘*;mm%?
. /B
o A ¥
1. foumh ) 352 © 9 G ‘
2, . . ' of -
3. :ﬁq 32; gg 6. <hil et Jreft T ER A A "
4. ITaeha 3 32 (a) e TR BT
(A) 1-31 2.3 3-% 4-3 (B) sypsfid B ST
B) 1-31 2-3 3-% 4-3 (C) &=
€ 1-3 2-% 3-=m 4-3 (D) A Eal
D) 1-3 2-37 3-34 4-%
g7, “iter T =l =g 9Tl i WEEr=d 4
80. Tt wree I wgEEA TR fafu
(A) wrefiat (B) =it ) |
(C) wfnd (@) = o i
81. THIS &I TR = T T8 FITa1 GG & 7 S —_—
(A) =t v (B) degey @
PARIIS & 3 é 3 et eft TR |
82, i e wpeT & T & vw A F e g+am'=wmaﬂqﬁéﬁ%.?
T3 yiEy i) (A) FuEfy @) T EfY
(A) eI G, FHHRF, (C) < afy (D) Tk
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